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Sixth Semester B.E. Degree Examinafio,o, Aug./Sep t.2020
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Note: Answer any FIVE Jfull questions, selecting ot least TWO questions.from each pctrt.

rAr(I _"1\

Briefly explain the historical backgrouncl of Intel microproccssors.
b. With a neat block diagrarn. explain the BIU and EU of 8086 rticroprocessor"
c. What is memory segmentation'l List the advantages of memory segmentation.

2 a. Write the irrstr rctiorr template for the tbllowing instmctions. Also rnention the encocled br rts

(i) MOV AX, BX (irt MOV AL. il23airl
(iii) MOV CL, [BX] lSIl (iv) MOV DX, 156,31i (08 Ntarris)

b. What is the outcome of the following program segrnent:
(i) Mov AL,34h (ii) Mov AL. 08h

MOV BL.38h MOV tsL.09li
SUB AL, BL MUL tsi,
DAS AAM (06 Markr)DAS AAM (06 Marlis)

c. What are assembler directives'? Explain the fbllowing assembier directives:
(i) DW (ii) EQU (iii) PUtsLIC (iv) EXTRN (06 Mark:-)

3 a. Write an ALP to generate factors of a given nutnber. (06 Marl<r1

(08 Marllr)b. Explein string instruclions, with an example for each.
c. Distinguish between a MACRO and a PROCEDURE. Write an ALP that displays a can iagc

retum and a line fbed using a IvIACRO" (06 Marl'r)

4 a. Explain the software and hardware interrupt structure of 8086. (10 Marll;)
b. Write a scheme to generate NMI intemrpt on power failure and explatn" (10 Marlis)

PART _ B
5 a. Interface a 4 x 4 keypad to 8086 CPIJ and write a program to identif,i a key pressed r,r,rtlr

relevant comfilents. (12 Marlis)

b. Write an ALP to rotate stepper motor in clockwise direction of 180" and then rr
anticlockwise direction of 360'. (08 Nlarlist

6 a. Explain the data types of 8087 NDP. rl0 Markrr

b. Represent 23.25 using long real (64 bitl. (04 Marks)

c. Explain the following instruotions of 8087 NDP with exampies:
(i) FXCH (ii) FINIT (iii) FADD (06 Marks)

7 a. What are the difltrent status and control signals generated on s2, S, and 5o in maximurrr

mode of 8086? Explarn bnefly. (08 Marksl

b. Write short notes on: (i) PCI (ii) USB (iii) LPT (12 Marltr)

I a. Briefly explain 80386 special registers. (08 Nlart<r)

b. Write the salient features of 80486" (06 Marll;)

c. Describe the brasic features of Pentiurn processors. (06 M:irkt)

,<rF**r<

DAS AAM
rat are assembler directives'? Explain the fbllowing assembier directi
Dw (ii) EQU (iii) PUtsLIC (iv) EXrRN
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Sixth Semester B.E. Degree Examination, Aug./Sept.2020
Microel ectronics Gircuits

'l'inre: 3 hr-s. N'lax. Marl<s:100

N6tc: Alswer un.t,TItREE1httque,\tions.fi'onr Purt-,1 und ott.1'Tll'0 /hll qhlstiotts.fi'ttm I'urt'B.

I'AIT'T'- A
I a. [)c;irc au crprcssion lirrclraiu curreltt of a \{OSFLT in ciiflirent regions ol'opcration.

(05 \'Iarks)

b. Lrrplaiu hou,thc N,{OS|;1:T cau bc uscr.l as arr amplilicr anrl its a su'itch. (05 \'Iarks)

c. l-xplaip diilbrcnt biasinc rrcthocls in \'{OS amplificr circuit,r. (10 }lalks)

2 u. Dluw thc rlcve lol'xncnt of the T-ccluilalertt circLrit trrorie I lilr the 1\4OSirLT' (05 }larlts)

b. Thc NN{OS u,,.i Ir\4OS transistors in tlrc circuit slron'n in Fig. Ql (b) rtrc tnatchcd with

. , (,.) (,),, , lllr\['l 'l i,, 1.,,,1 t'- .,. I l' i 1111,1 \,',,, ,= '-\",,, -'l \,'. AssLttlillg 7' - l) lbl both dcliccs. llld
L \l \'

thccllailcg;rcutsier.rncl ilr1,aucl thcvoltagc\/11 lbr\'1==11 V,-2.5\"and -2.-5V. (05illarks)
'+"r,9 \l*-

i ant
r r-\- r vb

tD?

t' 1*lttt'>'

Frg. tl2 (b)

4a.

b

c. F-or a conrnon gatc al"rplifier with g,,r = 1 lnA/V antl l{n'- 1,5 KQ. Fincl lLi,,, Iiuu1, AV6. Av

ancl G,, 1or llr : 15 I(() zurcl R.1u: -50 O. What \\,'ill tlrc ovcrall Voltage can bccot-nc lor

J a. \\rhaf ts MOSITE'l'scaling'/ [xplain about sltorl chatrnel cl'['cct clLlc to scalirlg. ((]5 \lrrks)

b. llrl;llin w'ith ncat diast'arrt of \\rilsorl l\'1OS nrir-ror. (05 \lrr"ks)

c. (iiycn yr_,r, .3V aprl lrrt,r,: 100 pr\ tt rs reclLrirecl to ilcsigrr a basic N{OSFIi'l'constal)l

cLy.rclt sosl'cc to clbraiu alt output crrrrcl)t rl,hole notttinal valrtc is I00 LtA. Find R i{'Q1 iind

e. ar.c pratcftccl ancl have channel lirngth's of 1 pLttt, chanttcl r'r'idth's ol'l0;Lnl, V, '0'7 V

arril l(', = 200 ptAi Vr. What is thc lorvcst possible l'aluc of Vo? Assttrtring tilat ftrr this

proccss rcchloloty the carlv voltage Vlr = 20 Vi lrr-r-r. fincl the otttprtt rcsistancc ol-the

cgrrent sollrce. Also. flncl tlie chang.'itt orttltLtt etttt'ct.tt resLtlting fi'otrl a*l-V changc in V11'

l{,,, - I l(O" 10 KO arrcl 100 KO.

d. Drau, thc B.l-f constant cLlrrcut soLtrcc circLrit antl explain it.

(10lI:trks)

(05 Marks)
(05 Marks)

ln cortru.rr.1r) gatc arnplilier r.l,ith active loac1. obtairt 3-cl[] 1i'cqLrency lor using open circr:it

Iinrc constitnts. L)ra1'the circLrit requirecl ftlr cictennirting llu' ancl ll.a. (10 }larks)

('orrsii-lcl rr sorrrce tlrllor,i,el circr-rit. specilrcd as tbllou's . WIL : 1.2 ptnri0.36 frrn,

Ir, - 100 ;rA. g,r, .= 1.25 mAi\r, 7,={).2. 1',r =20 KO. I{.;* : l0 Ko. I{r 10 l(o.

(',,.,- 20 tl-. C,ur : 5 II, Ct ,= l5 lF. Fintl tltrec capacritances Ciu.1. Cu' tlrtcl (.1. Irincl 'r,, and tltc

pcrcclltagc cctutribution to it fiom caclt o['thlcc cltllacilallccs. [rirlcl ti r.

I of 2

(10 Marks)



5a.

b

l0L,c63

Draw rl.rc tu/o stage Op-Anrp CN4OS OpAnrp-r configuraticln litrcl briefly cxplairr obtain
:.. (0tl }Iarks)

t)\ Cllll I ()ll(l) l()()l) {llll.
'l'5c 6itj'erc,tral amplrficr in ligrrrc uscs transistot-s u'ith [] - 100 Frvaltlirtc thc firllouirlr:

(r) Tlre input cliffcrerltral rcsislittrce [tl,t'
\,' /

Thc ovcr.all cji{Ibrentiul ',tiltrrgc grrin u' (, 
. 
(NcSlcct thc cff'cct o1't'r,).

,, .Lg
(ri)

(iii)

(ir i
(t')

J'ltc u'ttt'st cttsc c()lllllltll't t.llocle

r,vithin + 19,i, .

"Ihc C\'lR.l{ in rlll.
1-hc ilpLrt c()iljltolt rnockr rcsistuncc (itssrtt'tlir-rq thal tltc carlr' r'oltllgc V r '

F ig Q7 (b)

LxpIaip logarilhntic and anti]ogarithrnic artrplificr-s rvith ncat tlirtgt rLtrrs.

Explain the dvttatric opcratiotl o{'a C'N4OS ittr''crter.

garn il'rhc tu'o ctlllcctor tcsistauccs arc accuralc 10

100 v)
(12 )larks)

I ig. Q5 rb)

PART - B

lrxplain briclly wrth erpressions the propcrtics of'Negalivc {ccdbacl< (10 NIarks)

trxplain al--,o1",i ShLrnt-Slrr-rnt l'eeclback anr;rlilier r,i'ith diagram and obtain tlrc cxprcssion ftir

input impeclancc and olttpttt itl-tpcclance. (10 Marks)

Explairr iustruutcnlation antplillcr u,ith ncat cit'ct-tit diagrar-n. (05 Vlarks)

Usl the superpr,sition plinciplc to flnci tlrc outpr,rt voltagc o1'the circuit showtr rn I;ig. Q7 (b)
(05 N4arks)

C.
(10 \larks)

( 10 \'I a rks)8a.
b

C-

Sl<crch a CMOS logic circLril that rcalizes thc liLnction f : ngtt r-tjt .r.,*i,ru i\( )lsatc.
(();1 l,l u rks)

!:i+\A

1 ltrr-*-

Explain chargc sharing ltroblenr iil tlvniinric 3-inpr-rt NAND circrrils (()6 )lrtlks)

g-c "--\i\h r*
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(06 NIarks)
rll)t'r'tut'c and di|cctivity.

(07 N{arks)
(07 Marks)

Sixth Semester 8.E,. Degree Examination, Aug./Scpt.2020
Antennas and Propagation

'l'ir-nc: -l hrs. Max. Marks:100

Irlote: Answer any FIVE full questions, selecting atlesst TWO questions from each part
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.1,.\lll'-.\
a. Ir1-rlain thc lbllorving 1cn]rs rvith rcspcct to Lur antcrnna ;

i) Ilacliation intensity ii) Ilearr arca iii) I)olarization.
'o. Dccirrce thc c.rprcssion to dcpict the rclatiort bctt'ceti eflective

c. Dcrivc thc crprcssion ftrr a llcld at a pilr'ticLl lar poinl in il'cc s1)ace.

a. -Detcrnrinc the actLLal clirectivity ancl approxirnalc ditectit,iry'ibr : i) Li: U,,, cos" 0

ii) U:Un,sin(Jsir.i:(1) iii) U=.U,,,sin0sinr$1or0!0.(1)<r. (l0Marks)
b. A lincar ai-r'ay of 4 point solll'ccs has a distance of N1 bctri'ecn adjaccnt elcmcnts of the

an'av. Thc po\\,ct'is applicrl rvilh cqr-ral aurplinrclc'ancl a phasc diifi;r'ct'rcc o1' d.. Obtain the
(10 NIarks)licld p3119111.

a. l)edLrr:e the e xprcssion lir the e]ectric licld conrponent oi'a linear orltellna of length Nl.
(12 Marks)
(08 Marks)b. illr-rstratc that the racliation resistaucc o1'a short dipolc is 73Q.

b

C.

a. Denve the er;lression t'rrr clr-c1r'ir- fielcl conrponent of a srnail circular loop antenna of raclir-rs
'll urur') irtg t'ttrt'clrt I.
Statc ancl illLrstrate Babinets principle.
Dcdirce thc expression fbr racliation resistlince of a loop antcnnil.

PAIll" t]
Erplain the Slot antcnna and Conrplcmentary altteulta.

[:.rplain the lbatules and operaticn of hclical antel]na u,ith its tlodes ofoperation.
Iirplain thc r,vorking of Yagi Uda antcnna. N4ention its applications.

Explain Rumsey's prurciple and the operation of log perioclic antcnrla.

Dcscribc the operation of i) Antcnnas fbr gtottttd penetrating raclar ii)
antennit.

a. Dcclucc thc resultiint flcld strc-ngth ciuc to dircct and grouncl rclated rays at a distance'd'
fhrrr thc transntitrcr . 'hf is the hcight o1'the transn-ritter and 'h,' is thc height of the

receiyer. (10 Marhs)

b. Dcscribe thc litctors aflecting grounci \\'itve llruprg.ltioll. (06 \Iarks)

c. A VI{F coultitlnication rs to be establishecl at 90MI{2. rvitlr the transntitter powcr o1-35W.

C'alcr-rlatc thc LOS cuuutrirr.rictrti()n distance. i1'thc lieight o1'trattstlittcr ancl reccitct'3tltr-l]llrt

are 40ur ancl 25tr respcotivel-y.

[lrplain thc' clit]i:r:cnt laycrs of the ionosphcrc.
ClalcLrlarc thc critical fiequency for Irr. F-2 ancl E laycls lbr rvhich the maximutrl iot'tic

drrpsiticsare2.3 x l0('.3.-5x l0t'ltttii 1.J x 106 elcctrons,r'cltrlt'espccfivelv. (06'\larks)

l)cscribe rhc srgnificancc of N'lUF anel sl<ip clistatrcc. Dccluce thc cxpression fbrMUir.
(08 NIarks)

(08 IIarks)
(06 I'Iarks)
(06 NIarhs)

(06 N{arhs)

(07 N'tarks)
(07 Nlarks)

(10 r\{arks)
I}nbcdded
(10 \Iarks)

il.

b.

b.

(04 \Iarks)

(06 )Iarks)8a.
b

C,
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5 a.

b.

c.

6a.
b.

sclredLllm
Processes Pr Pz Pr P+ Ps

Anival time 0 2 3 5 9

Service time 1
-) J 2 5

f
-l

l0EC65

Max. Marks:100

(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
(10 Marks)

(08 NIarks)
(08 Marks)
(0,1 Marks)

(08 Marks)

(05 Marks)
(06 Marks)

(08 Marks)
(04 Marks)

(06 Marks)
(08 Marks)
(06 Marks)

(06 Marks)
(08 Marks)
(06 Marks)

Sixtlr Semester B.E. Degree Examination, Aug./Sept.202A
Operating Systems
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Note: ,4rtsryer otry FIL/E.ftttt questirtrt.s.lclectitrg tttletr,;t TWO qrtestions.from each part.

P,{RT _,\

1 a. []r-rcilv r:rplain thc clif lcrcnl classcs ol opcrating slistems. Specifying thc prirnary concem
and l<ey conccpts r-rsccl.

l-r. What arc colrl-uon tiislts pcrfbrurecl [-r-v opcraling syste rl'/ Irrplain br:iel1y.

c. Ilrplain two tvpes ollesource allocation.

2 a. I)iscLrss opcmting svsterns u,ith monolithic slructure ancl thc rnultiprogriimuring systems.

l-inrc: 3 hrs.

b. Explain Kenrelbased and Microlienc'l bascd opcrating systeln.

PART - B

Explain demand loading of pages.

3 a. What is threacl'.) Explain tlrc implcrlentation ofKernel-levcl threacl ancl User-levelthread.
(10 NIarks)

tr. Erplarn process strrtes arld state tlansition in Unir. (06 Nlarks)

c. Discus the trdvantages of child processes. (04 Marks)

4 tr. Ditte rentiate bt:tween :

(i) Staric ar-id ciynarnic melnory allocatioti.
(ii) First frt and Best fit fi'ee space ailocation

b. F.rplain nre rging of fiee are,as usir-rg bounclary tags.

c. C--on-tpare contiguous and non-contigltot ts tnemoly allocation.

For the fbllowing page refcrcncc string, calclrlate thc number of page ffrults with LRU when
(i) Number of Page fi'arnes are thrcc
( ii r N urnbt'r o I Page fi'anres are lbrrr.
Page relerence striirg:5.4. -1.2. l" +.3.5.4.l.l. 1.5.
Explain address translation in paged virtual memory.

Explain the organiziition of sccluential acccss and direct access flle s.

l-xplrirr tlrc difl'erent operetions pcrlblrncd on filcs.
With a neat cliagrarn, erplain the facilities provided by lile systcm and IOCS layers.

7 a. Computc mean tllm arouncl titne
processcs, using FCFS schecir.rli

(08 Marks)

and rveighted turn around time fbr following set of

b. Erlrlain Sc:heclLrlir-rg in Unix.
c. Erplaur the lorTg tcrtn, medium terin and shorl tcrtll scheduler.

8 a. Explain (i) clirect and indirect naming (ii) blocl<ing and nonblocking
b. Write short note ol1mailbox and rnetttion its advantages.

c. With a ncat diagram, explain lntcr Process Communication in Unix.
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Max. Marks:100

(06 Marks)
(06 Marks)
(08 Marks)

PART'B

lloiv and labrication stcps o1'sltbtnicron CMOS
(12 N{arks)

as a c:apacitor' (08 N'tarks)

(10 N{arks)

Sixth Semester B.Et
Analog and

l lmc: J llrs.

Note: llrls.tler tttu, lrIL.,E./itll tlttestitllts' selecting utlctlst Tll 0 qtte':,titttts,.|iltm euclt part.

P.\l{'[ -,\

1 a. With ncat ciiagtiltrl urPlailt sltttlllle atrd rvord charactcristie s' (0tl Marks)

b. \r,'ith neat clialrant cxi',lain ,nired signal la-voLtt ittt':t:-- 08 Marks)

c. Irinti rhc nL',bcrot input combinatiir,-,, r,.1,,"= lbr 1LSLl. tltc pcrcetltilgc accuracy4 flrllscale

r.oitasc (Vf'Stg.,-,.ro*,1 for 3 bira*cl E bit DAC ass,*''titrg Vtrrr': 5\r' (04 Marks)

Degree Examination, Aug./Sept' 2020

Mixed Mode VLSI Design
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Z a. Dcsigil anci cxplain N Lrit I{ 2R laclclcl nr-rtrvork tincl out lotal rcsistance Valtlc in horizoutal

atttl vctlical bl'anchcs. (10 Nlarks)

b. -l bit resisror string DAC u,as clesisnecl rvitir dcrivcti rcsistor of -500Q After fabrication

ntistlalch cltrtsccl thc actttal vaLucs uf ,'.'i'to" to bc Rr "'500Q' Ilr:480Q'R": 4704'

R, : 5?(X) Rs:,510O, Rr,:'1900. Rr: 5300 and R3: 500Q' Detemine the maximun't
r\ I (lo \l:rrks)
INL ancl DNL tbr the DAC assutning V..,' = 5V '

3 a. i) Explain briefly cyclic digital to analog couverter'

ii) Erplain bricfly pipe linc digital to analog cottvet-tcr'

b. Erplarn brie f1y bloch cliagr:am oltu'o step fiash ADC'

4 ar. Explair-r hor,v lc'cl shiltcr can be uscd in thc oPclulional an"rpliticrs lcVcl shitters to avoid' the

slrili in operating point cluc to clircct coLrplrngtetwcen the constructive stages' (08 Marks)

b.Ilr;llairlneatcliagratrrof.highperlonrranccColnparatorr'vitlreiichstages.(l2Nlarks)

a. Explain rvith ncat block cliagrarn olprocess

Il'ocess ll()\\.
b. in the rtrirecl signal IC clesign explain holv MOS devicc behave

6a.
b.

trrlrlaip httu, to c'letertl-tit'tt: the pcrfbrll-tance oltl-re data Convctlcr SNR' (10 N{arks)

'| - --r.':'^ "':+r' -^"1 hl""l" 'li,trt-'rtrr olrvt'rrl<it.lu nrinciple ot'clutl-tp and interpolate circr-rit u'ith
Lrplain rvith ncat blocli cliagratrr ,,rl rvorking principle ot'clutl-tp and

(05 Marks)
ADC].

c. I)etennine the efftcti'c nrtl-nber of bits tor ii1 ADC rvith Vr.f* = 1 5V'V"i'- -0and a

tleasttrecl Vq.nrls cif 2r-r-rV' (05 N1arks)

1 ol2



a. I}pl3i1 and write the circitit o1_. u,ltcn circr-tit c()lltaills t$Io

signal :rncl its inverse ancl thc basic u'orking prirlciplcs

sirnple delaY e lenrent.

b. irxlrlaip rvitft ncat block clragllrr ol':l bit pipclirrccl acldcl'.

c. [:sii'rate tire higl to lorv o,,.1 i,.,^,to high clcla-vs rn tlte circLiit sllor|l't in Fig'Q7(c)'

108,C661

tristutc it-t"cflers dri','crl by a clock

of this circr-rit rs sirniiar atrcl thc
(()ll )Iarl<s)
(06 \larks)

Lt c{

I(1.- L.
r,/

\e!a\

8a.
b.

With rrcat block diagratlr expinin t\\'o slagc (rir-rlrlrL)

with neat sketch o1'circuits erplain flre cle sisrl il1'rllixcd

3r.lf rh in-r,'n-\

(06 !Iarks)

(05 \Irtrks)

()p-anril u ith itltptlrtallt llllralllctcrs.
( l5 !la rl<s)

Fig.Q7(c)

r ^r 1
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Max. Marks:100

(06 N'Iarks)

(04 NIarks)

c1 iagran-r anci nccessary
(10 N1arks)

lirr :

(0tt llarks)
statiori antenna for

(06 NIarks)

(06 Marks)

(04 Marks)
(06 Marks)

Sixth Semester B.E. Degree Examination, Aug./Sept.2020
Satellite Gommurnications
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Note: .lrrstre r uny I;lltE./full cluestio,ts, selcctirrg utleust 1'Ll'O questions./i,onr euch purt.

l, \lt I -.\
I a. [.ist thc li-eclrierrcv - [tand clcsignations n,hich are in con-rnron Llsc li)r satellite services.

'l'irnc: 3 hrs.

b \\'hat is IN"I'[ri-Sr{|? Ilou, it cor.ers thc 'ir]ternatronal tralhc"l
c. Slatr: ancl c\plilin thc KcPlcr's lar.vs o1'planetary, urotion. rvith ncat

ct lttLtt ir 
' 
ti:'.

2 tr. lrrplarn holv a salellite continlres to bc in orbit ancl delive e\pression
i) Sateliite velocit_-v ir) Orbital period.

fnctor o i ( i) 4.2 ii) 4.-5.

c. Explain Preassigned FDMA.

b Deflil'ancl explain Elevation aucl Azrnruth auglc> of a srolrncl
courrlLrn icat ion. ii, ith an orbitin_g sate ll ite.

c. -l'hc 
orbit ol'an eartlr orbiting satellite hiis an ccccnlricity oi'0.15 and scuri major axis ol'

9000 knts. Detcrrrinc r) Pcrioclic tirx,Lr ii) Apogee height iii) Perigce height.

Civen h:3.986 r 10j knrr/-st. Assurre a nlean valLrc ol'6371 l<ms tbr eartir's radius.

a. I::xplain Atmttsphcric ancl lonosplicric losses krr satellite conrnrunicatiuu. (05 VIarks)

b. For tlrc systerr given in iig.Q3(b) (i) and (ii). the receiver noise figLrrc is l2dB, cable loss

-5clB. LNA gain 5Oclll ancl its noisc tenrperature 150K. Antenna noise temperaturc 35K,
calculate noise ternperaturc rcfcrred to the input. Conclude tlre result. (07 Nlarl<s)

F ig.Q3(b)

c. Calculate rain attenuiition fbr' rr fi'equency of 1 8(lHz for circular polartzation. The rairr

hcight of 2km. a rain rate of l0mm/hr is crcccded tLr 0.001 pcrccnt of the vear. The earth

station altitLrcle (r00m itncl antenna elerutiorr unglc is -i5" (al, - 0 0751 , au -- 0.0691 ,

br, L0()() . lr I.0b5). (0tl \lnrks)

a. What is a Satcllite transponclcr'l \Vith a ncat diagranr, cxplain the ovcrail lieqr-rcr-rcy

ilrriutseutent of tvpical C bancl cornurunication satellite. (06 Nlarks)

b. \\iith thc lrelp of ncirt cliagrarn, explain thc fonls ol'altitLtile control. (10 )Iarks)

c. Erplain TT ancl Cl tiu-rctions u,ith block diagram (Teletretry, Tracking and Cotmtarrd).
(04 Nlarlts)

PART - B
a. With a neat cliagram. cxplain the outcloor ancl indoor units of a rcceive - only holne TV

(10 N{arks)\\ \tct)).
b. An FMrTV carrier is specitiecl as ha.',ing a rnorhrlatiott index of 2.571 and a top nlodulating

liccluency of 4.2 MHz. Calculate tlTe protcction lation lequircd to give a qnalrty impairrnent

5*E. q zu;rg
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l0EC662

l'alsc clctcction
(10 IIarks)

["or thc Ltplrrtk

0.001 76(r aucl

(06 \larks)
(0,1 ll arks)

(0lt Il arks)

((r6 llarlis)
(06 I'larlis)

(20 }l:rrks)

a. Explain Unicluc Worcl cletectiotr. Obtarin cqLlation fbr miss probability and

nrobrbilitv.
b. The carrier to interlercncc ratio at the groitncl receivjfl-q alltenlla is 23'3 dll'

(C/l) rario is 27.53 db. Fincl the overall ratio lC/l),,,,, lbr (l/C)ir

(IiC)n - 0'00'+'136'

c. What are ciil rcnt ililsrtcrcrtrces that octrLtr in ITDN4A sYstcll':)

it.trxlllaini)'l'ransportclercapacit)'ii)i:'reqLtencvanclPolarizatton'
b. Hxplair-r the plncipies ol'Global positioning sale llitLr s\stCnr in eletail

c. Describe tlre olleration o1'tlpical VSA l'svslc1ll'

Wtitc :lrort ll()lc5 ()ll :

a. SPADE system"

b. Irarth l:clipse oi-satollilcs.
c. .l'ranstlit 

- Recerve earth slatiolls
rl lt;.td.ir sltt

a

',. :,.., -'aa.

''l:,.:., 
..


